NUMBER SYSTEM | PART-4

SSC,CDS

1413 -525+ 5123 =x+ 4152 find x=7?

(A) 7359 (B) 1829
(C) 1849 (D) 1859

123 x 52— 17 +52x26 + 13 x 11 =7
(A) 6396 (B) 7874

(C) 9274 (D) 7254
28.5+14.7-7.14+3.62="7

(A) 30.67 (B) 29.18

(C) 39.68 (D) 39.58

1119943 98565
+ =7

65879 = 6571
(A) 42 (B) 52
(C) 32 (D) 123

25% of 6932 + 30% of 7930 =72

(A) 5112 (B) 4324

(C) 4112 (D) 3154

(4408 = 19) - 71% of x =19 find the value of x?
(A) 300 (B) 400

(C) 450 (D) 325

(23.1)% + (48.6)* — (39.8)% = x + 1147.69
Findx=?x®AAa@ =47 IBPS PO- 2011
(A) (13.6)2 B)12.8

(C) 163.84 (D) 164.24
IfN=(12345)2 + 12345 + 12346, then what is
the value of /N

i N = (12345)% + 12345 + 12346 &, 4l /N & 9F

T ? SSC CGL Mains 2017
(A) 12346 (B) 12345
(C) 12344 (D) 12347

IfM=0.1+(0.1)2+(0.01)2and N = (0.3) + (0.03)*
+ (0.003)* then what is the value of M + N?
g M = 0.1 +(0.1)2 + (0.01)* 9= N = (0.3) + (0.03)?
+(0.003)2 %, T M + N 1 |M 1 271 ?

10.

8SC CGL Mains 2017
(B)0.413131
(D) 0.131313

(A) 0.411009
(C)0.313131

What is the sum of the digits of the number,
when divided by 15, 18 and 24 leaves the same
remainder & in each case and is also com-
plete divisible by 13.
T B AT % 31T 1 A9 T T w9 15, 18
i 24 % forerfm fen s € 52 R IR 8 s
3R B ¥ goia: faenfsd gars ?

SS8SC CPO 2019

(B) 16
(D) 18

(A) 17
(C) 15
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Mother's » Number System (Part-4)

Answer with Explanation

T-8xx=1
1. (D) 1413 - 523 +5123 =x+ 4152 x=6
- = x+3 6 8
90 3+ 2 7 X x= - x—>=48=3(DS)
8 8
0-1=x+3
x=—4 Only option (A) whose digit sum is 3.
- digit sumofx=-4+9=35 7. (C) (23.1)% + (48.6)> - (39.8)2 =x + 1147.69
=0+0-4=x+1
2. (B) 123x52-17+52x26 +13x11 =x=-5

=x=-5+90=4(DS)

6 x7- 8+ 7x8 + 4x2 only option C has digit sum 4

6 - 8+ 2+8 = 8 (DS 8. (A) N=(6)+6+7=4 (DS)
(A) (12346)% = 49 = 4 (DS)
Option : - (B) (12345)2= 9 (DS)
(A) 6396 =6 (C) (12344)* = 7(DS)
(B) 7874=8 (D) (12347)2= 1(DS)
(C) 9fFa=4

D) 7254=9/0 9. (A) M(DS)=1+1+1=3
(P 7254=5/ N(DS)=3 +9+9=3
S [M+N]DS)=3+3=6

3. (C) 28.5+14.7-7.14+3.62 )
only option A= 0411009 =6 (DS)

6+ 3-3 +2 =28
Only Option (C) have sum of digit = 8 10.(A) Number = 181;+ 8
4. (C) % = %X §= 8 (DS) - Remainder = 8
only option (A) whichhave DS=1+7 =8
98565 _ 6 _ 6 (DS)
6571 1

=>8+6=14=5(DSg)
Only 32 has digit + sum =5

5. (C) 6932+25% + 7930 x 30%

I TR TR |
2 =7

P + 1 =3
y {
5 + 3 = 8

Only option (€] has digit sum = 8
6. (A) 4408 +19-71% ofx=19

1
T+1-8ofx=1
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NUMBER SYSTEM | PART-5

SSC,CDS

Convert (87),, into binary number system?

(87),, =1 AR T H e 2

(A) 1011010 (B) 1010111

(C) 1001012 (D) 1111000

Convert (11111111),,into decimal number sys-
tem ? -
(11111111), = Semea TS | w6al ?

(A)225 (B) 226

(C) 255 (D) 322

Convert (1111111.1111),, into decimal num-
ber system ?

(1111111.1111), =1 s¥me™ G5 § agel ?

(A) 120.0625  (B) 125.0625

(C) 127.9375 (D) 121.0624

Convert (0.67),,
upto 5 decimal number ?

into binary number system

(0.67),, T TIHETT 3 = T T e Fe v H
q5e 7

(A) 11111 (B) 11001

(C) 10101 (D) DOD11

(25.323), , Convert it into binary system ?
(25.325) I seT Tl | =rqel 7

(A) 11001.010 (B)11111.011
(€)11101.111 (D) 11100.001
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Mother's » Number System (Part-4)

Answer with Explanation

=(127.9375)
1. (B
®) 2 87 1
4. (C) 0.67x2=1.34 1
9 | a3 1 0.34 x 2= 0.68 0
0.68x2=1.36 1
0.36x2=0.72 0
2121 1 072x2=1.44 1
- (0.67),,=(10101),
2 10 0
5. (A)
2 | 25 1
2 5 1
2 12 0
2 2 0
2 6 0
1
213 | 1
(87),,= 1010111 2 ]
2. ()
0.325x2=0670 0
LR IR L L L L R 0670 x2=1.340 1
27 12° |2 2" 2 (2% |2t | 2¢ 0.340x2=0680 O
So,
(25.325) ,=(11001.010)
128 64(32 |16 |8 |4 |2 1 =255
1 2 3 4 5
3. Q)
1t 1 1 1 1 1 1 1 1 1 6. (A) (12345), =
001 010 011 100 101
- (12345), =(001010011100101),
25 25 2-‘ 2" 23 2 Qr: 2_: 2_3 2_3 2_4

1 1 1
=64+32+16+8+4+2+1+ = +— + = +
2 2 2 4 8

1

16
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